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Explanation of earth size calculation

-As shown in the diagram below, the lines drawn when viewing
the Polaris from two points are parallel because Polaris is
so far away.

-The angle from the horizon to these lines is called the altitude
angle.

-The altitude angle is equal to the latitude. (A=a, B=Db)

- The distance between Nagoya and Wakkanai is about 1,110 km.
Dividing this by the difference in latitude c between Nagoya
and Wakkanai gives the distance on the ground equivalent to
1 degree of latitude, and multiplying this by 360 gives
the distance around the Earth.

-Use the table to find the distance around the Earth from
the difference in latitude c.

Latitude Distance earth
difference C :
3. A of 1 deg. Size

5 deg. 220 km 79,200 km
10 deg. 111 km 39,960 km
15 deg. /3km 26,400 km

The correct altitude
angles you measured
are A=35 degrees and
B=45 degrees.
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